LTE RLSR

AMTEERRREEREREBBTREn— AV ITHBE/ SRTEERFV IS

S KBRORFSLI g 2 — (KRR & ) ARMTESAL0H 1R FHAE: 1000m
¥K£1H B (L—2ANO0.1-6) / k£2A B (L—2ANO.7-16)
BOV| 4, IN—% #NE|  500m 1000m o)
1 1
10:00 2 | KB |[AAT B (EFRE—ZITTA)
. 3 ) & S (PR R
e KR (R 23 ORBRERNR)
4 KR [Frrnr Vv (Ef~ry—X257C)
- 5 SERE (IUA FRE (flifr—A2 7 257 B)
TT R dambad
2 1
10:15 2 SCRE | ZA 380 (falfa— A7 257 C)
N 3 It Il &= (e —A 7 757 A
CES IS Y RN = (ke 1277777 8)
4 KB [iTH K (F~AZ—RX7F7B)
. 5
T.T Pefs2ii p
3 1
10:30 2
. 3 B[R s OB R R
BRI KR (WA T OB R R
4| KB KRR (R RS —XT7)
. 5
R
6
4 1
10:45 2
30 KM |m % f W W@ A
LFHT VAT L L o
4 KR |l F~AZ—X2F7S&K
. 5
el ‘
6
5 1
11:00 2
3| KB |# Fal = i
LTI T il : o %
4 N =1 ] (53
- 5
ek :
6
6 1 KBR |3 JR =3 54 B
11:15 2 PN = =] 54 B
3| KB |3 i Fr 5 A
BFHEFMI RN T woR 5 R
4| KR |#& o 5 3
el 5 PN # BB A
6
7 1
11:30 2
3 K |l F~AX—XIF7TGC&E
BFH T NAS I il i :
40 KW [ F M ¥ B Ok
el 50 KW | ¥ B B v — @ A




LTE RLSR

AMTEERRREEREREBBTREn— AV ITHBE/ SRTEERFV IS

S KBRORFSLI g 2 — (KRR & ) ARITHE5H10H -1LH FHAE: 1000m
¥A£1H B (L—ANO0.1-6) / K£2H B (L—2ANO.7-16)
V| R IN—%, #HIE|  500m 1000m o)
8 1 KB (@ 7 @ & B - | R
11:00 2 | KB O[3 B @& B - AL @\ O3E £
R e 3 KB (B¢ &= @ B - oA E
EES
’ BRI
5 KW |\ A & & E - + ) %
e 1
FiE1H .
9 1
11:10 2 Kk (85 @ KRA-FHNEB
R I 3 Kk (@ A @ KA - N B & A
[ EX
4 K (B 5 @ & C - & R\ K
5 | KK |@ fi @ D« & B — R
e %M
Fize2 .
10 1
11:20 2 | KB O[BEE O R A - 4k B M
TP AT 3 R (8 &5 @ &K B - W K B+
4 Kk (% &5 @ &K C - fa @ ¥ I
o o 5
R
6
11 1
11:30 2
N 3 g 3% oy i 3
BFET AT Kbz |k = %
4 Kb & f ) ®
- 5
B ‘
6
12 1 N Ea) = e C
11:40 2 N e = 53
NN 3 9 A =y = 3
BpET AT N = (53
4 N Ja = 3
— 5 KR | e = % B
R .
13 1
11:50 2
3 K |ie FF ~ 2 4% — X 27 5 7
s AN
Al :
e 5
o
6
14 1
12:00 2
o 3 KB |l F ~ A% — X275 7 A
FIHRINT IV
% 4 KB | ¥ ~A4% — X2 5 7B
N 5
Vel :
6
15 1
12:10 2
LA VARNT N BA-H T AN (OP) 3 )\Wi Ai:ri?zg_zﬁ;}j W4><
k 4 KPR (I~ AS—RIFTF&S M2X
N 5
Vel :
6
16 1
12:20 2 K || S~ A% — X277 7
3 B4R ORFEREAK A
B+ Ah
4 PNSE PN N /A A NS 2B [ e
N 5
Vel :
6
17 1
13:15 2
. 3
BTN p
S [ 5
R




